o MaHoTeK

HABOP 019 MPOMECCUOHATIbHOM ONATHOCTUKM

MOPOCUCTEM MTEK-60UP

KOMTTJTEKTALLNS:
TpaHCNOPTUPOBOYHbLIV KEWC 1w
MaHoMEeTp ¢ ranuepuHoM, @ Wwkanbl 63mm (0-10 Bar) 1 wr.
MaHOoMETp ¢ rnuepuHoM, @ Wwkanbl 63mm (0-100 Bar) 1 wr.
MaHoMeTp ¢ ranuepuHomM, @ wkanbl 63mm (0-250 Bar) 1 wr.
MaHOMETpP ¢ rnuepuHoM, @ Wwkanbl 63mm (0-400 Bar) 1 wr.
MaHoMeTp ¢ ranuepuHomM, @ wkanbl 63Mm (0-600 Bar) 1 wr.
MukpoLunaHr L=1500MM 5wr.
KoHTponbHasa Touka: G1/8 1 wr.
KoHTponbHasa Touka: Gl/4 1 wr.
KoHTponbHasa Touka: R1/4 (2G1/4) 1 WT.
KoHTposbHaa Touka: G3/8 1 WT.
KoHTponbHaa Touka: M10x] 1w
KoHTponbHasa Touka: M10*1,25 1w,
KoHTponbHaa TouKa: M12*1)5 1w,
KoHTponbHaa Touka: M14x15 TwT.
KoHTpobHaa Touka: M16x1,5 TwT.
KoHTponbHaa Toduka: NPT1/4 1 WT.
KoHTponbHasa Touka: UNF7/16-20 1 WT.
KoHTponbHaa Touka: UNF9O/16-18 1 WT.
BbicTpopasbeMHble coeanHerna (BPC) ona Catpelier/CASE/John 1 WT.
Deere-(M12x1,5)
TponHWK G3/8 BHYTP. 1 WT.
TponHWK G3/8 Hapy. 1 WT.
TpoHMK M18x1,5 BHYTP. 1w
TpoHMK M18X1,5 Hapy»K. 1w
TPOMHNK M22x1,5 Hapyx. 1w
TpoMHMK M16x1,5 Hapy»K. 1w
TponHWK UNF7/16-20 BHYTP. 1 WT.
TpoHWK G1/4 BHYTP. 1 WrT.
TponHuK Gl/4 HapyK. 1 WT.
TpOoMHUK M14x1,5 BHYTP. 1 wr.
TpoMHMK M14xX1,5 HapyK. 1 wr.
TponHuk UNF11/16-16 1 WT.
TponHnk UNF9/16-20 BHYTP. 1 WT.
TponHuk UNF9/16-20 1 WrT.
HnpekTop
A /K.B. CacuH

634009, Poccuq, r.
ToMCK, yr.

lNponeTapckaga 54, MoM.

2,3,4,5,6,12,13,14

NHH 7017465014
K11 701701001

OTpen npogax: +7(3822)607-047

E-mail: s@manometry.ru

OI'PH 1197031063283

Web: www.manometry.ru


http://www.manometry.ru/

